	Year 6 Autumn 2

	A
	B
	C

	7 x 6 = 42
	72 = 8 x 9
	6 x 8 = 48

	7 x 60 = 420
	720 = 8 x 90
	6 x 80 = 480

	70 x 60 = 4200
	7200 = 80 x 90
	60 x 80 = 4800

	7 x 0.6 = 4.2
	7.2 = 8 x 0.9
	0.6 x 8 = 4.8

	0.7 x 0.6 = 0.42
	0.72 = 0.8 x 0.9
	0.6 x 0.8 = 0.48

	8 = 56 ÷ 7 
	63 ÷ 7 = 9
	12 = 84 ÷ 7 

	80 = 560 ÷ 7
	630 ÷ 7 = 90
	120 = 840 ÷ 7

	800 = 5600 ÷ 7
	6300 ÷ 7 = 900
	1200 = 8400 ÷ 7

	80 = 5600 ÷ 70
	6300 ÷ 70 = 90
	120 = 8400 ÷ 70

	80 = 56 ÷ 0.7
	63 ÷ 0.7 = 90
	120 = 84 ÷ 0.7

	0.6 x 0.8 = 0.48
	0.7 x 0.6 =  0.42
	0.72 = 0.8 x 0.9

	12 = 84 ÷ 7 
	8 = 56 ÷ 7 
	63 x 7 = 9

	49 = 7 x 7
	24 ÷ 8 = 3
	14400 = 120 x 120

	32 ÷ 8 = 4
	35 = 5 x 7
	64 ÷ 8 = 8

	300 x 9 = 2700
	4200 = 70 x 60
	77 = 11 x 7

	560 = 80 x 7
	2.4 ÷ 6 = 0.4
	10800 = 90 x 120

	400 ÷ 8 = 50
	490 = 70 x 7
	90 x 90 = 8100

	90 x 80 = 7200
	21 = 30 x 0.7
	350 = 50 x 7

	770 = 110 x 7
	400 x 9 = 3600
	500 x 9 = 4500

	28 = 40 x 0.7
	480 ÷ 8 = 60
	35 = 50 x 0.7

	2000 = 40 x 50
	1.2 ÷ 6 = 0.2
	560 ÷ 8 = 70

	0.6 ÷ 6 = 0.1
	600 x 90 = 54000
	1.8 ÷ 6 = 0.3

	3 ÷ 6 = 0.5
	90 x 70 = 6300
	90 x 50 = 4500

	700 x 90 = 63000
	5600 = 70 x 80
	3.6 ÷ 6 = 0.6

	2400 = 40 x 60
	800 x 90 = 72000
	7200 = 90 x 80
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